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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020

Part — III Time : 2% Hours
SOCIOLOGY Cool-off time : 15 Minutes

Maximum : 80 Scores
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General Instructions to Candidates :
® Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.
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I.  Answer all questions from 1 to 6. Each carries 1 score. (6x1=6)
1. Identify the concept proposed by Jan Breman to refer to the migrant workers.
(a) Badli worker (b) Foot loose labour

(c) Pravasi (d) Contract worker
2. The process that helps to look at oneself ‘from outside’ :
(a) Sociological imagination (b) Triangulation

(c) Self-reflexivity (d) Generation gap

3. Pick out the first Backward Classes Commission appointed by the Government of

India.
(a) Nettoor Commission (b) Mandal Commission
(c¢) Joseph Commission (d) Kaka Kalelkar Commission

4.  Identify the concept introduced by M.N. Srinivas.
(a) Sanskritisation (b) Industrialisation

(¢) Urbanisation (d) Secularisation

5. Aggressive Chauvinism based on religious identity is called :
(a) Regionalism (b) Nationalism

(c) Communalism (d) Secularism

6. The branch of management theory that seeks to increase productivity and

competitiveness through the creation of a unique culture involving all members of a

firm is called :
(a) Culture of consumption (b) Corporate culture
(c) Global culture (d) Local culture
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10.

11.

III.

12.

13.

14.

Answer any 4 questions from 7 to 11, in 2 or 3 sentences each. Each carries
2 scores. 4x2=8)

Complete the chart showing the three situations of urbanisation proposed by
M.S.A. Rao.

Three Situations of urbanisation
|

! ' l

“““““ Seen in the Villages
Situated ncar an
industnal town.

Point out any two reasons for the growth of Indian language newspapers since
globalisation.

Define or explain commodification with an example.

Differentiate between homogenisation and globalisation of culture.

Point out the two predominant features of a civil society.

Answer any 4 questions from 12 to 16, in 4 or S sentences each. Each carries
3 scores. 4x3=12)

Classify the following into appropriate columns :

(Satnami movement, Bardoli satyagraha, Tebhaga movement, Adi Dharma movement,
Mahar movement, Telengana movement]

Peasant movement Dalit movement

Write a short note on the association between caste and class in rural India.

(a) Pick out the odd one.
Westernisation, Sanskritisation, Urbanisation, Modernisation
(b) Substantiate your choice.
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15.

16.

Iv.

17.

18.

19.

20.

21.

22.

23.

Point out any three interventions of the colonial government that had its impact on the

caste system.

List any three reasons for the declining sex ratio in India.

Answer any 4 questions from 17 to 21, in a paragraph each. Each carries

4 scores. 4x4=16)

List out the merits and demerits of prior knowledge about society in the learning of

sociology.

Analyse tribal development in the context of national development.

Write a short note on the struggles of Indian women against the discriminations faced

by them.

Define Sanskritisation and point out any three criticisms leveled against Sanskritisation.

Explain the problems associated with homebased work with the help of an example.

Answer any 2 questions from 22 to 25, in a page each. Each carries S scores. (2 x 5=10)

Critically analyse the social consequences of Green Revolution.

Examine the impact of globalization on Indian radio.
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24.

25.

VL

26.

27.

28.

29.

Rearrange columns ‘B’ and ‘C’ so as to match with column ‘A’.

A B C

Economic policy of | Electronic transfer of funds | Event management

Liberalisation

Transnational Mixing of global with local | Stock markets

corporation

Electronic economy | Open up Indian economy | Foreign TV channels

to world market use Indian languages

Weightless economy | Produce goods in more | 1990s

than one country

Globalisation Products have their base in | Colgate-Palmolive

information

Examine the impact of globalisation on Indian markets.

Answer any 2 questions from 26 to 29, in 1% pages each. Each carries

6 scores. 2x6=12)

Compare and contrast the industrialisation process in independent India with that of the

colonial period.

Critically analyse the relevance of Malthusian theory of population growth in the

contemporary Indian context.

List out the major challenges faced by the untouchable castes in India and examine the

major state and non-state initiatives addressing these discriminations.

Analyse the impact of globalisation and liberalisation on Indian industries.
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VII. Answer any 2 questions from 30 to 32, in 2 pages each. Each carries

8 scores. (2x8=16)

30. Explain the causes and consequences of different caste based movements in India.

31. Discuss Panchayati Raj as an ideal and practice in India.

Hints : Ideals of Panchayati Raj — Powers and responsibilities of Panchayats — Actual

practice.

32. Explain the relationship between community nation and nation-states and examine why

modern states consider cultural diversity as a threat.
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